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« scanf(“%f",&d);

- R=(3.14/180)*d;

* printf(“%f",R);

#include <stdio.h>
void main()
{
float d,R;
printf("Enter a angle in degree:");
scanf("%f",&d);
R=(3.14/180)*d;
printf("It is %.2f radian",R);
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#include <stdio.h>
void main()
{
int a;
printf("Enter a number");
printf("\nThe program will print O if it is dividable by 2");
printf("\nand 1 if not:");
scanf('%d",&a);
printf("%d",a%2);




: (Conditional statement) b g &l ygawd °
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#include <stdio.h>
Void main()

{

}

printf(“%d”, (3 4));
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#include <stdio.h>
void main()
{

float x;

scanf(“%f”,&x);
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if (x<0) if (x<0)
{ {
v y=-X;
y=-X; o
z:y+1; } z=y+1;
} else

y=X;




#include <stdio.h>
void main( )

{

float x;

printf(“Enter the number:”);

scanf(*%f",&x);
if (x<0)
printf(“%f",-x);
else
printf(“%f" x);
}
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include <stdio.h>

void main()

1

float x;

inty;

printf("Enter a number:");
scanf("%f",&x);

if (x>0

1

y=1;

printf("its sign=%d",y);
élse
if (x<0)
' y=-1;

printf("its sign=%d",y);
i)

else

printf("its sign undefined");
v
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ssign(X) awilxo sl sl a0l g (Y Jlo

1 x>0
sign(x) =4-1 x<0
undefine x==
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NESTED-IF
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if (x>=0)
if (x>=12)

printf(“X is greater than or equal 127);
else
printf(“X is less than 12 and greater than 0”);
else
printf(*X is less than 0");
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x=-5;
if (x>=0)
{
if (x>=12)

printf(“x is greater or equal than 12");
S

else
printf(“x is less than 0");
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SWItCh (81,5 L Zumo &g 31 ko)
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break;

case pS1,l b zume suss

default:
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x=1;
?witch(x)

case 1:
pl’inﬂ(“*");
break;

case 2:
pl’inﬂ(“**");
break;

case 3:

pl’inﬂ(“***");
break;
default:

) printf(“Error”);
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char x='b’;

switch(x)

{

case ‘a’:
printf(“%d”,'a’);
break;

case ‘b’:
printf(“%d",'b’);
break;
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